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INSTRUCTIONSTO CANDIDATES

This paper consists of two sections: A and B.

Answer all question in section A

In Section B answer Question 6 and any other TWO questions.
All answers must be written in the answer booklet provided.
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SECTION A (25 MARKYS)
Answer all the questionsin this section.

1. (@ Nametwo districtswhere maizeisgrown in large scale. (2mks)
(b) List three problemsfacing maize farmersin Kenya. (3mks)

2. (8 Apart from Nileperch name two commercial fish speciesin Lake Victoria.(2mks)
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(b) Mention three measures und%(l‘é{ﬁen to conserve and manage fresh water fisheriesin
Kenya QJQQ’ (3mks)
@
3. (@) Apart from Olkaria, nanQeQElﬁreeother potential areas for geothermal power production in
Kenya h (3mks)
(b) State two reasons for the declined use of coal as a source of energy. (2mks)
>
4. (a) Listthree main induced environmental hazards. (3mks)
(b) Name twjo non-governmental organizations (NGO) concerned with environmental
consef¥ation. (2mks)
o_,\'
5. C%)/%‘t&atetwo push factors enabling tourists to come to Kenya. (2mks)
& ) Mention three ways by which travel advisoriesissued by some European countriesin the

2  recent past has affected the tourism industry. (3mks)

SECTION B
Answer Question 6 and any other TWO questions.

6. (@) Thetable below shows the value of export crops from Kenya between 1995 and 1998 in
million Ksh. Use it to answer questions below.

Crop /year 1995 1996 1997 1998
Maize 224 210 360 286
Coffee 168 190 267 310
Tea 320 280 299 388
Horticultural 200 240 315 461
Total 912 920 1241 1445
() Calculate the total export value for tea. (2mks)

(i) Using a scale of 1cm to represent Ksh. 100 million, draw a cumulative bar graph to
represent the data above. (7mks)
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(b) (i) Distinguish between the fol Iovg{r%?terms Balance of trade and Balance of payment.

@Q’b (2mks)
(i) Explain threefactorst@‘-influencetradein Kenya (6mks)
(c) (i) Statethreemain regi\ccm‘fal trading blocsin Africa. (3mks)
(if) Highlight thr e;gg?hmon problems facing the African regional trading blocs.
(3mks)
(iii) Givetwo @j&rts made by the Kenya government to enhance external trade.
64\ (2mks)
7. (a) (i) Defing mining. (2mks)
(ii) Swgtte three ways in which minerals occur. (3mks)
(b) (jgi)eﬁcr ibe stripping as a method of mining. (3mks)

((/(%) Givefour factors which favour the formation of Tronain Lake Magadi.  (4mks)
{-6&) (1) Apart from land dereliction, explain three other problems facing the mining industry in

2 Kenya (6mks)
e<<* (i) Give three effects of land dereliction. (3mks)
<
& » (d) Identify four problems facing gold mining in South Africa. (4mks)
<
8. (3 (i) Distinguish between horticulture and market gardening. (2mks)
(i1) Explain three factors that favour the development of horticulture in the Netherlands
that are not found in Kenya. (6mks)
(iii) State five contributions of horticulture to the economy of Kenya. (5mks)

(b) Explain four measures that the government of Kenya has taken to improve dairy farming.
(8mks)

(c) Givefour factorsthat limit beef farming in Kenya. (4mks)

9. Study the map of Kenya below and answer the questions that follow
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(@ (i) Namethe rivers marked R, and\Rz (2mks)
(ii) Name the main crop groww’ﬁ each of theirrigation scheme marked S; and S,
<’ (2mks)
2"
<
(b) (i) Apart from water s‘ailability, name other physical factors that favoured the
establishment wea irrigation scheme? (4mks)
(i) Statefive ganomlc benefits of irrigation schemesin Kenya. (5mks)
(iii) Apart from irrigation what other efforts are being made to increase agricultural output
fgom the arid areas of Kenya. (4mks)
(© D%Q‘R?e the main stages of reclaiming polder land. (8mks)
10. Q/?l) Define the term fertility. (2mks)
|) State four reasons that have contributed to low fertility rate in Kenya. (4mks)
2 (b) (i) Explain three problems of high population growth rate in Kenya. (6mks)
<<K (i) State four ways in which population in Kenya differ from that of Sweden.  (4mks)
@&Q’ (c) Statethree factors that may lead to formation of linear settlement. (3mks)
< (d) Explain three factors that have led to growth of New Y ork. (6mks)



